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(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.
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any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
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means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
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PHYSICAL EDUCATION
Paper III

iR forem
gyarent 111

Time Allowed : 2% Hours]
Note : This Question Paper contains Seventy Five (75) multiple choice questions,
each question carries Two (2) marks. Attempt A/l questions.

oAl : A YA THY UeEal (75) dgudEl WA fool ofRd. Yosh WA & (2)

U SRd. @E U Wi

[Maximum Marks : 150

(a)

(D)

(o

(d)

Match List-I with List-II and select
the correct option using the codes

given below :

List-I List-II
Carron’s situa- (1) Personality
tional theory
Phenomenolo- (2) Emotion
gical theory
Catastrophe (3) Aggression
Theory
Social learning (4) Leadership
theories
Codes :

(a b (© (d

@A @ @1 @2 3
B @2 B @O @
© 3 @ @ @D
O O @ @ @

(a)

()

(0
(d

-1 = GEI-11 2 ST Sesd & Tt
Thammyd 9rg e Haer

eI Et-11
Y fageemA 1) Afrmc
ELLK|
EEIEEGISEIS I R CIRED
ELLkl
HERZIh IUU (3) ST

=

ST STeIfieR (4)  Agestedt
EEEkl

Hehdich :

(@ W (o
A @ O @ O
B 2 B 1 @
© 3 @ @ @
M 1 @ B @
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Arrange in correct sequential order
the approaches adopted to study

personality in sports :

(I) Trait approach

(IT) Situation approach

(ITII) Psychodynamic approach
(IV) Interactional approach
Codes :

A) (D, dID), AV), D)

(B) Iv), D, I), 1D

(C) dDn, av), dIDn, I

(D) (IID, (D), D, (IV)

A National Plan of Physical
Education for training of teachers of
physical education was first formed

inthe year ........cccceeeeeeeiiiinn, .
(A) 1947
(B) 1956
(C) 1920

(D) 1914
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(IT) aRfeerdt wamg

(I11) 9H9fshaT JaTs

(IV) AR hATHE TS
Hehdich :

(A) (D, (IID, (IV), (ID)
(B) (IV), (D), (D), (III)
(C) (I, (IV), (IID), (I)

(D) 1D, (D, dI), (IV)
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Which of the following is an apex
body for promotion of sports in the

country ?
(A) SAI
(B) LNCPE
(C) NSNIS
(D) NCTE

Which one of the following is not an

ethics of a good teacher ?

(A) He may not be in suitably

dressed

(B) He must check up the physical
arrangements and keep

equipment ready for lesson

(C) He must cultivate good

speaking voice

(D) He must have mastery over

lesson

Which among the following institutes
of physical education is given the

status of Deemed University ?
(A) YMCA, Madras (Chennai)
(B) Sports Authority of India
(C) LNIPE, Gwalior
(D) NSNIS, Patiala
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Which of the following should
form the content of curriculum in

physical education ?
(A) Combatives

(B) Rhythmics

(C) Apparatus activities

(D) All of the above

The core domains of academic and

professional courses are :
(A) Cognitive domain
(B) Affective domain
(C) Psychomotor domain
(D) All of the above

Which of the following should be
considered guideline for the

scheduling of physical activity ?
(A) Time span
(B) Strength of faculty

(C) Adequacy of infrastructure and

equipment

(D) All of the above
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(B) &sig SISl
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10.

11.

(a)

(D)

(o

(d)

Which one of the following is out of

scope of health education ?
(A) Health services

(B) Health instruction

(C) Health hazards

(D) Healthful living

Match the Nutrients and Foods

given below :

Carbohydrates (1) Milk products

Fats (2) Common salt
Proteins (3) Fruits
Minerals (4) Pulses
Codes :

(a b (© (d

A 1 B3 @ @

B 3 1 @ @

© @ 2 @O )

M @1 B @2 &

10.

11.

(a)

()

(0

(d
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12.

13.

(a)

(D)

(o

(d)

(e)

Hyperplasia is a term related to
obesity :

(A)

Increase in size of adipose
tissue

(B)

Decrease in size of adipose
tissue

(®)

Increase in number of adipose
tissue

(D)

Decrease in number of adipose
tissue

Match the Occupational Health
Hazards with Reasons for diseases :

Physical (1) Poisonous gases
Hazards

Chemical (2) Parasitic agents
Hazards

Biological (3) dJob satisfaction
Hazards

Mechanical (4) Cold

Hazards

Psycho-social (5) Machinery
Hazards

Codes :

(@ b (o (@ (o
A @O & @ BG) @
B @ @ @ & O
< 3 @ @O @ 6
M @ 1 @ BG) 3

12.

13.

(a)
(0)
(0
(d)
(e
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14.

15.

16.

Which of the following diseases is
called hydrophobia ?

(A) Tetanus
(B) Rabies
(C) Malaria
(D) Tuberculosis
School

maintain the following :

health record should

() Primary health care
(z7) Uniform record

(7i1) Dental record

(iv) Transportation record
(A) (1) and (i1 are correct
(B) (1) and (771) are correct
(C) (1) and (i11) are correct
(D) (i) and (iv) are correct

A child plays when he is full of
emotion and thereby to release the

emotions is the base of ................ .
(A) Cathartic theory

(B) Social contact theory

(C) Psycho-analytic theory

(D) Recreation theory

14.

15.

16.
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(iv) STEgHIoEA Aiq
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(B) (i) T (i) s
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(C) "AI-fagevm fagm

(D) HERSHHS faga
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17.

18.

Types of recreational activities

are :

(1)

Games and sports

(i7) Politics

(7i7) Musical activities

(iv) Dance activities

(A) (i, (Jin and (iv) are correct
(B) (1), (i1i) and (1v) are correct
(C) (1D, (iw) and (1) are correct

(D) (1), (1)) and (i71) are correct

In regard to tapering, it is true

that :

(A) Tapering usually consists of a
period of reduced training
volume and frequency but

maintained intensity

(B) Tapering can be applied to all

types of training

(C) Tapering allows for recovery
from accumulated fatigue and
may also promote further

training adaptations

(D) All of the above are true

17.

18.
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WeAAdeh] HARSHIHS SThH UM ?
(1) ©os d hiel
(i1) TSI
(i) Hfq SuHH
(iv) A 3IUhH
(A) (), (i) T (iv) SR
(B) (1), (i) T (iv) T
(C) (), (iv) T (1) S
(D) (1), () I (di1) SRR
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qaiet Id et qeia wfvnarm

Tesuii e <TerT fHead

(D) a8d He §F 3
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19.

20.

21.

Macro cycle can be divided into

developmental periods called :
(A) Micro cycle

(B) Training session

(C) Meso-cycle

(D) Training schedule

The value of training depends on

readiness of

individual athletes.
(A) Training concept
(B) Coaching concept
(C) Physiological

(D) Team

is an emotional,

behavioural and physical condition
that occurs when the volume and
intensity of an individual’s exercise

exceeds.

(A) Adaptation
(B) Conditioning
(C) Overtraining

(D) Recovery

19.

20.

21.
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22.

23.

24.

A micro cycle includes more detailed
information on the
frequency, duration and sequencing

of the training session.
(A) Practice

(B) Adaptation

(C) Intensity

(D) Competition

The basic movements of any sport

or event is :
(A) Skill

(B) Style

(C) Technique
(D) Exercise

The aim of technique training in the
second phase of skill acquisition
is :

(A) To achieve rough coordination

(B) To achieve fine coordination

(C) To achieve mastery over the

technique

(D) To achieve style

23.

24.
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ST o RTeTo T3 e A
e GE@E Hifgdren GHERT 9l

(A) =

(B) S[euit
(C) e

(D) gt

FIVETRT Shiel fhal shiel S Jayd
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(A) HITeH
(B) e
(C) &
(D) =™
T Y

(A) 3TTe Hee 9T TUR S
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25.

26.

The theory of rules, possibilities,
means and forms of successful
formulation of competition activity

in a sport is :
(A) Tactic
(B) Technique
(C) Style

(D) Strategy

Consider the following statements,
one labelled as Assertion (A) and
the other is Reason (R) and select
correct answer from the codes given

below :
Assertion (A) :

Type-II error is accepting the null
hypothesis when it false.

Reason (R) :
This

interpretation of data.

error is due to false

Codes :

(A) (A) is right but (R) is wrong
(B) Both (A) and (R) are right
(C) (A) is wrong but (R) is right
(D) Both (A) and (R) are wrong

25.

26.
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frmr=n arfxeres s, e, iem ST
Hied TEl AR Al o
YL TS

(A) ST

(B) @

(C) et

(D) SEUd Al

EeATel R SITHed Thid faem (A) 7o
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I YR FJel ST degl P TRehed ]
Whel! S
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(A) (A) R WG (R) Thia 3T
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(D) (A) 2701 (R) Sl <ehi= 3TRd
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27.

28.

29.

In what kind of observation does
the observer become a part of the

observational situation ?

(A) Observation with intervention
(B) Field observation

(C) Longitudinal observation

(D) Cross-sectional observation

If we toss three coins, probability of
three heads will be :

(A)
(B)

()

| 0|w [N |

(D)

A sociometric test is a social research
instrument for diagnosing, under-
standing and evaluating the

structure of :

(A) Institution
(B) Organization
(C) Group

(D) Organism

27.

28.

29.

JAN - 71318/III—C

IO Yeh=al fAdtetomen e &1
frteroncaes gffeerdt=n 9mT etdar ?

(A) Teedfiee e
(B) &g fadtero

[aSKaY

(C) <reehrei= e

(D) FTC A& (cross-sectional)
Tteron

AU SR T A0 Ssfaet R dH S
(head) =1 H9EAT 39 :

1
(A) 3
2
(B) 3
3
() 3
4
(D) 3

TSI I § HESeh SR

YA W] hived G- e,

HAThedd d ‘j\ch'-ll“l"l Oh{a ?
(A) T
(B) HeeA

(C) 998
(D) HTofHE
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30.

31.

32.

Data, which are so vital to all kinds

of research, are a representation of :
(A) Reality

(B) Facts

(C) Processes

(D) Procedures

Who among the following are
considered to be initiators as well as

consumers of action research ?
(A) The teaching faculty

(B) Subjects involved in the study
(C) Researchers themselves

(D) The school administration

The simplest and the most common
employed version of the randomized

groups design uses :

(A)

Only one treatment plus a

control

(B)

Only one treatment and no

control

(®)

One control and two treatments

(D) Only a control and no treatment

30.

31.

32.
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e YR FRINEA Hewaqul STEere
mifedt @l & A gfaffre
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33.

34.

35.

Which of the following data-
gathering techniques is not used

in case study ?

(A) Observation

(B) Measurement

(C) Interview

(D) Personality inventory

Which of the following is systematic
error while administering psycho-

motor test ?

(A) Subjects emotional state
(B) Inappropriate warm-up
(C) Incorrect sequence of test
(D) Faulty equipment

Which of the following statements

is not correct ?

(A) Formative evaluation takes

place at the end of semester

(B)

Standardized tests are quite

reliable and valid

Teacher made tests are

(®)

constructed for local use

(D) It is difficult to grade reliably

and objectively through

subjective tests

33.

34.

35.
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(systematic error) B ?
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36.

37.

Select the correct answer from the

choice given below :
49)
(II)

Used double barreled question.

Make sure the questionnaire
items should not match your
research objective.

(A) Both (I) and (II) are correct
(B)
©)

(D)

(I) is correct and (II) is wrong
(II) is correct and (I) is wrong
Both (I) and (II) are wrong

Validity of a test designed to
measure a construct such as self-
esteem is best described by which of

the following ?

(A) Score from the test correlate

highly with most intelligence

test

(B) Score from the test correlate
highly with most tests of
different constructs

(C) Score from the test are not
correlated with anything

(D) Scores from the test have a

relatively strong and positive
correlation with other tests of
the same construct (i.e. with

other measures of self-esteem)

36.

37.
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38. Read carefully through the | g9 J&iel SART AT ST A-D T fameht sieR

paragraph below and decide which

T RO o S

of the option A-D is correct ?

“IguArt YIA i Sed STEAd. U9

“Three components make up the

multiple choice question : The item S Qo fate =S gwm

is an incomplete sentence or a

T A0 ST RS TR g,

question; the distractors are the in
incorrect option and the answer is (A) ‘" I vrTiES “arE” TTs]

the correct option.”
P L

(A) The word “Three” should be

(B) “fawsi®” =1 vregdersit “gaie”
replaced by “Five”

NESRNHE]
(B) The word “distracters” should be
replaced by “stem” (C) “gg" I TS “H,T’ﬁ%’:'" o=
(C) The word “Item” should be
INEEL

replaced by “stem”

(D) uaT{U.f" '5|T W “Tf" w

(D) The word “incomplete” should be

replaced by “complete” fergran
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39.

40.

What is the problem with this
set of response categories to the
question ?

“What is your current age ?”

(1) 1-5
(2)
3)
(4)
(5)
(A)

5-10

10-20
20-30
30-40

The categories are not mutually

exclusive

(B) The categories are not exhaustive

(C) Both (A) and (B) are problems

(D) There is no problem with the

above set of response categories

Calculate Waist Hip ratio for the

measurements given :

Waist of Mr. ‘A’ is 85 ¢cm and Hips

is 90 cm ?

(A) 0.82 cm
(B) 0.84 cm
(C) 0.86 cm

(D) 0.94 cm

39.

40.

JAN - 71318/III—C

qe feeiean yearen gfade q=9mHe &

S e ?

‘T g 5 fRdr 2

1) 1-5

(2) 5-10

(3) 10-20

(4) 20-30

(5) 30-40

(A) =Rl € TR

(B) il & wRqul A

(C) (A) ¥ (B) TI&t wwEa e

(D) o8d JiqEE oY hRie e
&l

“31" A1 e THEET B 85 W ST

frdemen B) 90 [ SR, A HIUAER
FHeR frda iR A 2

(A) 0.82 3.

(B) 0.84 .

(C) 0.86 4.

(D) 0.94 FH.
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41.

42.

43.

What is the problem with stem of
the following question ?

“Do you think it is good idea for
children to study physical education

and nutrition in primary school ?”

(A) A leading question is used in

this stem

(B) Double barreled question is

used in the stem

(C) Aloaded question is used in this

stem

(D) There is no problem with the

stem

Which of the following should a
supervisor use minimally to achieve

his objective ?
(A) Inspiration
(B) Incentive
(C) Assurance
(D) Authority

The essence of management in any

field of human interaction is :
(A) Coordination

(B) Coexistence

(C) Cooperation

(D) Co-action

41.

42.

43.

JAN - 71318/1I1—C
qeEld YvAreal qaieiae e e
AR ?

“oerfiyer Qe faemeai=t STiRer fereror
3:|TFUT STRIRMEHATAT ALY h {d] 34@
AU aed 1 2"

(A) =1 TeT= garaEe femesie g
SYANT el 3R

(B) =1 year=A geieiae gfeetell geamE
ST Hel 3T

(C) &1 e aieiae Igud o=
YYATEl SYANT hell 3T

(D) qagmY SRRl T A6l

A TeTieh] ShTd ShHId ShHT STITM
T STl IR HIEH FH& Lehall ?

(A) Hrcwmed
(B) &9

(C) s EA

D) AfTSR

RIS HIE Halle Ulehad HaLIeh 13

TR BN :

(A) =g fadior &
(B) Westf&re

(C) He=r

(D) HgFH
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44. Match List-I with List-II and select | 44. =-I eTfor F=I-11 31 ST e o @efte
the correct answer from the codes T G 99 Haer
g‘l.ven below : | H?ﬁ'—l W—II
) e (@) sEE )
a n ramura isita 1(-)11- B R —
(b) Finance (2) Competition
. . (0TI (3) fafweH
(00 Supervision (3) Reappropriate )
(d) Infrastructure (4) Layout (@ . 50 )
C : wehdien :
odes :
(& (B (© (d @ & (9 (@
A @ B @O @ @ @2 & @O @
B) B 2 @ @ B) B 2 @ @
Cc @ @O @ @ < @ @O B @
DO 1 @ @ 3 D 1 @ @ 3
45. Match List-I with List-II and select | 45. F=I-I 3101 F=-II T SEt Jeoel &
the correct option using the codes TTelel Fehdiehlqd aa 949 faer .
g‘i-ven below : | W‘I W—H
?;Z:I ) EISZH (a) 1936 (1) e
EZ 1948 E2; Bonl'on () 1948 @) =
erlin
(0 1980 (3) fasi=
(0 1980 (3) Seoul e
(d) 1988 (4) Moscow (d) 1988 @ .
(5) Los Angeles . (5) W TSy
Codes : Hehdleh :
@ b © (d (@ b (© (d
A 1) 2 6G) @) A @O @2 6 @
B) 2 @ @O ) B) @ @ @ 6
€ @ & @ @ ©c @ & @ @
D 2 1 @ A D 2 @O @ O
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46.

47.

President

instrumental in public school of

USA to include physical education

in their curriculum.

(A) B. Obama

(B) John F. Kennedy

(C) Ronald Regan

(D) Clinton

gland is responsible

for emotional arousal.

(A) Adrenal

(B) Thyroid

(C) Pancreas

(D) Hypothalamus

46.

47.

JAN - 71318/III—C

AN A

qeTeTdeh]

o

NN
{eh

EA L CIRLTAR E

nbl

S

o~

IMEhdial Grasiideh IMeer™e IR

fereromren stavfa Yoa SR

A ?

(A) . TEm

(B) S Th. et
(C) e fom

(D) faered

S ICIECORCR S eI EIEH |

(A) 3ffga

(B) 9RiEe

(C) Uf=marg

(D) TEUIgHE
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48.

49.

50.

The first book on philosophy
sports : ‘A Philosophical Inquiry’ is
written by :

(A) Liner
(B) Edger
(C) Bucher
(D) Weiss

Which is not a method to obtaining

the somatotype ?

(A) Anthropometric method
(B) Photoscopic method
(C) Rating form

(D) Classic method

The Palestinian terrorist killed
two members of the Israeli athletic

squad in the

olympic.

(A) Montreal
(B) Moscow
(C) Mexico

(D) Munich

48.

49.

50.

JAN - 71318/III—C

decaTe Y| Gk : * deRrE Afedl

(A) 3TUaHfgh Tgd

(B) WIEIEnIfush dgd

(C) e wid

(D) sk ggd

Horear Alferfus gveam dfafee

L Ao LY
qeRidalalll aﬁ selldll Clolgd]l ol

el Bt 2
(A) HTa
(B) Hfwh!

(C) HfcFTah!

(D) ==
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51.

52.

53.

Formula to calculate maximum

heart rate is :
(A) RHR + MHR
(B) 120 + Age + Height

(C) 220 — Age

Height (cm)

Weight X

The Raj Kumari Amrit Kaur
Coaching Scheme origin in the

year :
(A) 1952
(B) 1953
(C) 1954
(D) 1955

The first gymnastic school was

established in :
(A) France
(B) USA

(C) Germany

(D) China

51.

52.

53.

JAN - 71318/III—C

FHA TSI HISTOAE

(A) fagrd=n ggaer + S STEd
I

(B) 120 + &3 + 3=

(C) 220 — =3

S () y

(D) BRI

(A) 1952
(B) 1953
(C) 1954

(D) 1955

gigean SIS M=l TMUAT hig
Bl

(A) H14H

(B) em@ften

(C) St

(D) ==
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54. Which of the following drugs are

55.

banned by I1.0.C. as

substance ?

doping

(1) Alcohol

(2) Analgesics

(3) Anabolic steroid
(4) Amphetamine

Find the correct answer from the

codes given below :
(A) (1), (2) and (4)
(B) (2), (3) and (4)
(C) (3) and (4)
(D) (1) and (3)

Slow twitch muscle fibers are

characterised by :
(I) Greater cross-sectional area

(IT) Greater Kreb cycle enzymatic

capacity
(ITI) Low nerve conduction velocity
(IV) Greater glycolytic capacity
Select the right combination :
(A) (D, (II) and (IV)
(B) (II), (III) and (IV)
(C) (II) and (III)
(D) I) and (IV)

JAN - 71318/III—C

54. WelicTuehl shivrd iy oM. 3TLHT. J S

55.

TRUA S&1 el STg ?

(1) \™

(2) TSt

(3) TAmfeeh ©RigeH

(4) SRS

Teld Sehdienmed arg vt feer ¢
(A) (1), (2) 37for (4)

(B) (2), (3) =fur (4)

(C) (3) =nfur (4)

(D) (1) 7for (3)

HEHRT S TEU FHIAqhe @l
TOTEH  STEA

(I) fowf@ srear &%

(II) e =shr=l TASMEH &THdT Hidt
(IID) <ar-oe Tl <R

(IV) 5l Tefshleffesh  &fal

g T e

(A) (D), (ID) swfor (IV)

(B) (ID), (IIT) s7for (IV)

(C) (II) wfor (III)

(D) () eufor (IV)
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56.

(a)
(b)
(0

(d)

57.

Match List-I with List-II and select
the correct answer from the codes

given below :

List-I List-II
Amphetamines (1) Heart rate
Beta-blockers (2) Alertness
Erythropoietin (3) Urine
formation
Alkaline salts (4) Haemoglobin
(5) pH level

Codes :

(@ b (o (d
A 2 1 @ 6)
B) @2 B @ 6)
© O @ G G
D @2 @O G )

Maximal volume of air forcefully

expired after one maximal

INSPIration is ......cceeeeeeeeeereeenennnns .
(A) Tidal volume

(B) VO, max

(C) Vital capacity

(D) Second wind

56.

(a)
(b)
)
(d)

57.

JAN - 71318/III—C

-1 & GEI-I1 = A SiEt o 9
Teld Sehdienmed g v e

-1 TEl-11
THRTHTEA T
forer-=terd
RyEfed

AR Fiee (4)

(1)
BIECIEK
- fAfHd
[EEISICIE]
g e

2)
3)

(5)

Hehdlah :
(a)
A) (2)
(B) (2)
©)

D) (2)

TRUTT.
(A) Frervediaean
(B) VO, A
(C) TG99 &H

(D) S=H a8
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58. Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :
Assertion (A) :

In a cardiac cycle the diastolic phase

is larger than the systolic phase.
Reason (R) :

An individual with a heart rate of
74 beats per minute would have a
diastolic phase of 0.44 sec. and

systolic phase of 0.37 seconds.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)
(B) Both (A) and (R) are not correct
(C) (A) is true, but (R) is false

(D) (A) is true, but (R) is not the

correct explanation of (A)

JAN - 71318/III—C

58. el T AR, Teh faemM (A) T8

9 W TN FHRU (R) 38 :
faam A) -

TSI TR SRTTeeh 2l &1 Taaereien

ZHTIeT HIST A9l

T (R)

74 eu yfg fafqe srgumr=ar <aadEn
TS 2 0.44 9. A0 fgietie
o B 0.37 Yk 1T

el cTUeh! S0l TIiT aie 38 ?

(A) (A) 37T (R) B et I0aR 37T (R)

T (A) 9 g TR 3

(B) (A) o1 (R) € Qg SIUeR &I
(C) (A) ¥ sk 99 (R) § T

(D) (A) T SR 99 (R) T (A) ¥ T

TSR0 ATal
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59.

60.

Action potential at sarcolemma of

the muscle fiber spreads in T-tubules

releasing

reticulum.

(A) ADP

(B) ATP

(C) Ca™™

D) CI™

Painful muscular contractions

caused by prolonged exposure to

environmental heat, is known as :

(A) Heat syncope

(B) Heat exhaustion

(C) Heat cramps

(D) Heat stroke

59.

60.

JAN - 71318/III—C

T Afguaren seame fe-afasmmed

~

TrSe ST, Sieg]

fran Hvre Eaq 99 R i
2.

(A) T

(B) Tt

(C) Ca**

D) CI™

AT T SSHTCT TETS hleoradd e

S S S —
Y WU,

(A) SRS SRR

(B) SSHes WUl okl

(C) IWU[aHes Ueh

(D) 3oHTEIG
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61. Given below are two statements one

labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) :

Fitness is that state which
characterised the degree to which

sportsman functions at optimum.
Reason (R) :

Fitness is an individual matter
implies the ability to live most

effectively with potential.

In context with two sentences
find the correct answer from the

following :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is not the correct explanation

of (A)
(C) (A) is true and (R) is false

(D) (A) is false and (R) is true

61. Wet oF o feate

JAN - 71318/III—C

fay

3R T faum

(A) 38 W TR &= HRU (R) T2 :
faeam (A)

qged & oreft feerdt otwa f& @
TUEfTseTHe Eere HaiH wd
L.

ruT (R)

el & TN Safren et foh <
CeArgell ATt TRUTHSR o HHeAM

ST 3.
T SH e Tedid Eelerdeh!
TNE W HI0 2

(A) (A) 37T (R) B T8t e 71T (R)
T (A) T 3TEF TR 3R

(B) (A) 371 (R) B Tt e 37T (R)
T (A) I I TR TR

(C) (A) ¥ =R =7for (R) & g

(D) (A) & g&= T (R) ¥ IR
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62. The two joint muscle fibers cannot

63.

exert enough tension to shorten
sufficiently to cause full ROM in

both joints at same time is called

(A) Passive insufficiency
(B) Biarticulate

(C) Multiarticulate

(D) Active insufficiency

Two forces of 10 N and 18 N are
pulling an object towards east and
another 26 N force was towards west
was acting on same object. Calculate

the direction and resultant force :
(A) 54 N—West
(B) 12 N—West
(C) 24 N—East

(D) 2 N—East

JAN - 71318/III—C

62. T doed QI HILATHES U1 Brerareii=a

63.

T G A0 F Ge AR

T IRER 10 = ST 18 =Je1d
ez Qo= W AT e, T SRR
fYTHehed 26 <JeTd T NI STE
It fepTelt oles & feRI= T U

(A) 54 =JeI—af¥=H
(B) 12 =JeI—uf¥=H
(C) 24 <IFA—7d

(D) 2 FYA—T&
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64. The product of body’s rotational

65.

inertia and angular velocity is ....... .

(A) Angular velocity

(B) Angular acceleration

(C) Angular momentum

(D) Angular projection

With constant linear velocity,
angular velocity of a Gymnast

increases :

(A) By increasing radius

(B) By decreasing radius

(C) By increasing radius and

velocity

(D) No change in radius

JAN - 71318/III—C

64. SIS URYAUTE e o I Il

(A) I &

(B) &hIHE

(C) =1E Ham

(D) HIAE &g

65. S IO Weslgal hiHE o

Jiedl SR IRt FHE I T

-~

(A) = e arefacam

(B) @@=l e st shed™

(C) =t e 9 Tt drefaeam

(D) <= f59d SRl s]d 7 hedn
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67.

effect is the

commonly observed effect in which

a spinning ball curves away from its

principle flight path.

(A) Buoyancy effect

(B) Physical effect

(C) Magnus effect

(D) Magnitude effect

Which of the following is pressure

manipulation technique ?

(A) Clapping

(B) Kneeding

(C) Pinching

(D) Pounding

JAN - 71318/III—C

66. fiRehl BIqcien =g 8 FEHIERY 3AT9e

67.

Frafaa faart Hed o feen stace

(A) TTwEEn 9o

(B) Hifaer qftomm

(C) "=g giomy

(D) eTEmehl o™

Ereftadwl ‘9IR FAgavE’ 94

v ?

(A) FATT

(B) Tt

(C) fufem

(D) TEfen
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68.

(a)

(D)

(o

(d)

Match the List-I with List-IT and

select the correct option using the

codes given below :

List-I

Kyphosis

Massaging

Lordosis

Diarthrosis

Codes :

(a)

(A) (2)

(B) D)

(C) @)

D) )

()

3)

(2)

3)

(4)

(1)

(2)

3)

(4)

(o

(4)

3)

(1)

(2)

List-II

Freely movable

Thoracic region

Effleurage

Lumbar region

(d

(1)

4)

(4)

(1)

68.

(a)

()

(0

(d

JAN - 71318/III—C

-1 9 gAI-II =1 Sl Soar 9

HhdaeMyd ara v e

-1

fret

TEYifET

K3 -
-
.

(a)

(A (2)

B) (D

C) 2

D) 3)

(D)

3)

(2)

3)

(4)

(D

(2)

3)

(4)

(0

(4)

3)

(1)

(2)

geit-11

Herd el h VIR

BT 9ET

EESIS

AR T

(d)

(1)

(4)

(4)

(1)
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69. Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :
Assertion (A) :

Degree of stability depends on area

of base.
Reason (R) :

Lowering centre of gravity increases

degree of stability.

In the context of the above two
statements, which one of the

following is correct ?

(A) Both (A) and (R) are right, but

(R) is not the correct explanation

of (A)

(B) Both (A) and (R) are right and

(R) is the correct explanation

of (A)
(C) (A) is right but (R) is wrong

(D) (A) is wrong but (R) is right

JAN - 71318/III—C

69. el TF I foell 3fed el T

fagm (A) a8 R TN A= FRU (R)
AR

faam (A) :

feoReamel ardedl € STERMEA &R
FIAG .

T (R)

TEHE el S0 es e
el aed.

g S I Tevld Eeleddeh]
AT T G 3R ?

(A) (A) 371 (R) © Gia! ek 901 (R)
T (A) 9 Sfod ToedeRtn Al

(B) (A) 37fU1 (R) B Tl sisR 37T (R)

T (A) 9 Sfod TR oTe
(C) (A) & s, 99 (R) ® TIh

D) (A) & I, 907 (R) & SR
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70.

(a)

(D)

(o

(d)

Match List-I with List-II and select
the correct option using the codes

given below :

List-I List-II
Insight Theory (1) Motivation
Attribution (2) Aggression
Theory
Drive Theory  (3) Personality
Psychodynamic (4) Learning
Theory
Codes :

(@ b (o (d
@ O @ 3 @
B) 2 B @ @
© @ @O @ O
M B @2 @O @

70.

(a)

()

(0

(d

JAN - 71318/III—C

AEH-1 9 FRI-11 Sesed dr e T @t

o

foeiean Hehdieed farer :

ret-11

(1) 9Iom

(2)

3)

(4) JAHIA

(a b (o

@A @O @ 3 @

B) @ 3 @ @

© @ QO @ 3

M 3 @ @O @
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71. Consider the following statements, | 71, feciean 9 aERdIA Th faum (A) o

one labelled as Assertion (A) and Teh IO (R) 3T 3T el feorean

the other is Reason (R) and select L
Hehdlehlqd 3Teleh ST (erel

the correct answer from the codes

: fagm (A) -

given below :

Assertion (A) : ©B  ShIS] HEHNIGH HIHIISIoh R U]
Socialization takes place through sd.

participation in games and sports. HTUT (R) :

Reason (R) :

T A’ wieqa wEfses gat

Games and sports inculcate social

STSdid.
habits.

LU
Codes :

(A) (A) T I 318 WG (R) 7 39 378
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true (B) (A) ¥ o 3¢ T (R) § T e

(C) Both (A) and (R) are false (C) (A) =T (R) SIeiel T8 3T

(D) Both (A) and (R) are true D) (A) 31 (R) TI<El T 378
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72. Match List-I with List-II and select | 72. JRI-I & IRI-1I Seegd ARG AT Tt
the correct answer from the codes feeTea gqqqiehmaf{ faeT
given below : - T
List-I List-II
* * (2) i @R (1) =t g4
(a) Social Contact (1) Karl Groos 5
Theory of Play
(b) il FrRm (2) ==
(b) Catharsis Theory (2) Plato
EEEki|
of Play
(0 whiesl @AYl (3) Hlea
(0 Self-expression (3) Aristotle
EEEki|
Theory of Play
FHied! Heowgdl  (4) oS TH.
(d) Instinct Theory (4) Bernard S. (@ @ &
S aSE
of Play Mason
TUrgy
Codes :
(@ b (© (@
(@ (b (o (d ‘ ’
A (2) @ 4) (1
A 2 3 @ @ @@ 6 @ @O
© @ 1O @ @ © @ O @& @
D 1 @@ @3 « D @ 2 G\ @
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73. Consider the following statements,

one labelled as Assertion (A) and
the other is Reason (R) and select
the correct answer from the codes

given below :
Assertion (A) :

There exists a positive relationship
between cohesion and performance

in team sport.
Reason (R) :

Assessment of task cohesion and
social cohesion measures the
relationship of cohesion and

performance of a team.

Codes :

(A) (A) is right and (R) is wrong
(B) (A) is wrong and (R) is right

(C) Both (A) and (R) are right and
(R) is the correct explanation

of (A)

(D) Both (A) and (R) are right, but
(R) is not the correct explanation

of (A)

JAN - 71318/III—C

73. Teoiedn S amRINdia T fasum (A) 9

T &R (R) 38 o1 @ell feeresn
HehdlehIqd 3Teeh I ael ¢

faam™ A)

e Weeld ThEs@l AT hrdAH

A=Y GHRIHE: Heaay 3.

<ruT (R)

THEdl ki S0 HHISToR TRl I
qedeh o TRy S ShREEe

AT FeHALTe YT .

Hehdiah :

(A) (A) T TF A 707 (R) ¥ 319
e

(B) (A) ® HA 31gA 3101 (R) ® ¥
E3 I

(C) (A) 30T (R) =1 | g W
(R) § (A) ¥ Irmg TSR0 3R

(D) (A) =7 (R) =1 T 3TF W

(R)  (A) 9 7T TICIRI0 Tl
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74. Changing people’s attitude to | 74. ShiSsion ST A =0 HTW
sport is explained by theoretical i Jae .
approaches of : O - 5
(I) Cognitive theory () f - :
(II) Social learning theory
(IID)&: Teey 3qu
(ITI) Self-perception theory .
(IV) wmiifed stfadem Suaw
(IV) Operant conditioning theory .
g G W
Find the correct combination :
(A) (II) and (I) (&) (D v @
(C) (II) and (IV) (C) D) smfor (IV)
(D) (I) and (III) (D) (I) swfor (III)
75. Anxiety reduction techniques are : | 75. fear &Ht oA T
(I) Progressive-relaxation tech- (D) Ifge-osdy 9
maae (II) TFRIHF TR0
(IT) Positive reinforcement .
(I11) SArerifrer - wfereon
(ITT) Autogenic training
(IV) &9 =t
(IV) Goal setting
A<lch AN T
Find the correct combination :
(A) (IV) afor (1)
(A) (IV) and (II)
(B) (I) and (IV) (B) (D (V)
(C) (ID) and (IIT) (C) () s (TI)
(D) (I) and (III) (D) (I) @wfor (III)
39 [P.T.O.
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ROUGH WORK
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